RONIX POWER TOOLS

Premium Quality

S )
01 108 [
‘T

RH-4708

www.ronixtools.com Portable Gasoline Generator 800W



RONIX

Premium Quality

www.ronixtools.com

Number | Name Number | Name Number | Name

101 Rear Crankcase 205 2nd Piston Ring 515 Flange Screw M6x80
102 Insulative Rubber 206 1st Piston Ring 516 Generator Rear Cover
103 Oil Seal 20x30x7 207 Piston Pin 517 Damping Cushion
104 Oil Seal 6x12x4 301 Reed Valve Gasket 601 Governor Arm Assy.
105 Stud M6x113 302 Reed Valve 602 Flange Nut M6

106 Cylinder Gasket 303 Flange Screw M6x20 603 Governor Spring

107 Cylinder 304 Carburetor Gasket(out) 604 Speed Control Plate
108 Cylinder Head Gasket 305 Carburetor 605 Compression Spring
109 Cylinder Head 306 Carburetor Gasket(in) 606 Adjust Screw M6x40
110 Spark Plug 307 Gasket 607 Governor Weight Assy.
111 Ignition Coil Assy. 308 Flange Screw M6x62 608 Flange Screw M6x12
112 Flange Screw M6x20 401 Air Cleaner Cover 609 Collar Bush

113 Cylinder Mantle 402 Crosshead Screw M6x12 610 Crosshead Screw M3x8
114 Flange Screw M6x12 403 Engine Switch 613 Governor Fork

115 Clinder Head Nut M6x16 404 Flange Screw M6x20 614 Governor Shaft

116 Flange Screw M6x100 405 Air Cleaner Element 615 Tension Spring

117 Flange Screw M6x12 406 Panel 616 Link Rod

118 Recoil Starter Grip 407 AC Receptacle 701 Fuel Tank

119 Flywheel Nut M10x1.25 409 Tap Screw M4x10 702 Flange Screw M6x12
120 Flywheel 411 Capacitor 703 Strainer

121 Flange Screw M6x50 412 Tap Screw M4x16 704 Fuel Cup

122 Flange Screw M6x55 413 AC Protector 705 Fuel Tank Cap Assy.
123 Flange Screw M6x12 414 CDI Unit Assy. 706 Handle

124 Magneto Assy. 501&502 | Alternator (including rotor and stator) 707 Crosshead Screw M6x30
125 Front Crankcase 503 Generator Fan 710 Seal Ring

126 Bearing 6004 504 Bearing 6203-2RZ 71 Fuel Cock Assy.

127 Retaining Ring 42 505 Bolt 712 Hose

128 Oriented Pin 10x8x16 506 Nut M4 713 Clip

201 Crank&Rod Assy. 509 DC Receptacle 801 Muffler Assy.

202 Needle Bearing 510 Crosshead Screw M3x16 802 Exhaust Gasket

203 Retaining Ring 511 DC Protector 803 Flange Screw M6x16
204 Piston 514 Flange Screw M6x12

POWER TOOLS

RH-4708

Portable Gasoline Generator 800W



